
https://www.passapply.com/omg-ocup-300.html
2024 Latest passapply OMG-OCUP-300 PDF and VCE dumps Download

 

 

 

OMG-OCUP-300Q&As

OMG-Certified UML Professional Advanced Exam

Pass OMG OMG-OCUP-300 Exam with 100%
Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.passapply.com/omg-ocup-300.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by OMG
Official Exam Center

 

 

OMG-OCUP-300 PDF Dumps | OMG-OCUP-300 Study Guide | OMG-OCUP-300 Braindumps                               1 / 4

https://www.passapply.com/omg-ocup-300.html
https://www.passapply.com/omg-ocup-300.html
https://www.passapply.com/omg-ocup-300.html


https://www.passapply.com/omg-ocup-300.html
2024 Latest passapply OMG-OCUP-300 PDF and VCE dumps Download

QUESTION 1

What does the internal structure of a node consist of? 

A. an elaborate arrangement of classifiers of various types 

B. parts of type Nodule 

C. exactly three CommuncationPath connectors 

D. parts of type Node 

E. nodes cannot have internal structure 

Correct Answer: D 

 

QUESTION 2

What is the correct identity of the UML 2.0 infrastructure package A in the exhibit? 

A. Core 

B. Profiles 

C. CommonStructure 

D. Kernel 

E. CommonBehavior 

Correct Answer: A 

 

QUESTION 3
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What is wrong in this deployment diagram exhibit? (Choose two) 

A. Icons are swapped. 

B. Interface on Order should point up. 

C. arrow should have a dashed line. 

D. arrowhead should be hollow. 

E. arrowhead should be solid. 

Correct Answer: AC 

 

QUESTION 4

What relationship is represented in the exhibit? 

A. node with annotated property values 

B. node deployed on an artifact 

C. node with deployed artifacts 
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D. node with deployment specifications 

E. manifestation of an artifact 

Correct Answer: C 

 

QUESTION 5

What is true about an information flow? 

A. requires that a relationship (dependency, association, connector, etc.) does not exist between sources and targets 

B. defines the order in which information is exchanged 

C. may directly indicate a concrete element such as a class, and is conveyed instead of using an information item 

D. requires that a relationship (dependency, association, connector, etc.) exists between sources and targets 

Correct Answer: C 
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